Loqav (Ham6

3
we lmow 20 =7
‘ ?
What f  we ave asked 2 =%
7

The p-robiﬂm U‘;# #[Hdlﬂg L
s finding o Wgarthm

Hevg we Vaow 7-3 + e say 1031%’ =5

1\ ]
! 1'0(5 base 2 of g

So |0£jlg IS S%W’j *what Powwv gf 2 %4\;’@&‘8 7
P \O(jl% = 5

09, A5 & inat power of 5 gives 25" (ie: 5215 )

k)ﬂ"' A5 =2

W ; £ 2
lo‘ﬂio 1000 &— Wha power ob 10 @wes (coe (le‘: lo':moo>

]09‘0 lcoo =3



W 22-=8 & lg.8=3

Pube © | > = bY &= \j:\O{jkD‘;—\

/
€xponen Ha) \0‘3 avtthimi
forr form

/

we sy log base b of x

Nohw : - Base Qf oxp is Hhe base of Loﬂ

- Power oj exp 1S Fhe answev of leg

na -~ o =
04pX <& Hus K log oF X & e we gre applying
a  rule 4o

J

The rule 15 Hne
undoing & powvers

So lgpxX s a funchon

(not mu\hphd]n@

logs and  exponenhals have a Special relatonshyp
2> Yey undo  each other
= e -TVN’/ﬂ ave INVLYIES



2
?«30 Q) We  know &Y

Qo o :[0%3(;]

(using ﬁprmu[a

SRS SN

&— exp form

<— log Lorm

4=2, b=3, 'I‘:q\

1034 64 =3

[OC)G‘QS = o



< .25
XL =5

(Negathve  ingses  clomt
malee  cenced)

In add  these ques L howve  been

Lk Ve
betieen  wexp [@%;

reledtonsheps

<-b e Lj.—,\oqp,l

~Yurmember log gves o pouwer

==

Not o mulhkplicaken -
Ik a vl apphed fo X (guﬁr a V0 a rulk)

(T\/\j‘ Prob Set Q) and &’D



Properties of Logs

Since logs  vepresent  powess thewr pvoperhes aque
the  pvopesties eg PO e

5 =3

2
ej.* We  knews lo X Ilp = \0

fowens A+ 3 =5
lo%“" looceo

100
'OCJIO loﬁiolooo

e loaig o0t log,,looo = log,, oocoo

©log, A+ log, B - 10g, AB

N

o
a
Ints is Yhe firgh ProFe,VLj
e Addtﬂﬁ 2 (oﬁg Wt game loa ey
— 4o \H,un%,? %(7} mutﬁ'ﬁoh“ecf_

¢ q 10%5 t+ lqs 4 = {Oﬂﬁ(Q)

b) laﬂs?’ A \0364 — ant  ombie S\ bases
are  diffevent

O log,d + logy3 + log 4 + logs 4 pqu@)
iacﬂqa % lotjgﬂr + log)?) + log >4 i
< . ] ‘\ ; / e
logg 02>+l e gl e

— oA YoF" So catt {pctonse



(A & We can see
Rule 2 Kij = {Oﬂbg - (Oﬂb (—E?U Haig ?r:j &C
Ne,

Similary walh
10 add.don vule.

eq @ lij58 ~ [333;1 = [033 (%)

b) \c%zq + 10%6 “(Gﬂl?> B (le (Q%E)
= lcﬂl (%53 *-\OS;US) ]
9 logs (4%) — logs (220 = logs (L2 . fog, 2% “ﬁ%é’i—%

Rule 3 loﬂbAw’ s h’[O@bA & Can think ad? His as
fepem‘ed addition

—

e n logb/% z \o%be c LR +\OCZ)\O’A‘
> \o(:\b(AX-"KfQ
= \OC)lp P\Yb

) \0329@% = 3109,
: . 2
b) \035 (420 - lOfﬁngD = 2106551
1 | 2
T s Aiterent Yo (logs %XB

<”"‘:J ‘%,’;i%

Y Thee 18 no rule for mulbiplging
ond A \/x‘clmit)- o L0gs -



